Year 3 Week 10 Lesson 4 Answers
Can | divide a 2D number by a 1D number?

Because division is the inverse of multiplication we can
use our times table facts to help us.

2 times table 3 times table 4 times table 5 times table 8 times table

1 9 1 ) 1 4 1 5 1 8

2 4 v B 2 8 2 10 2 16

3 6 3 9 3 12 3 15 3 24

4 g 4 12 4 16 4 20 4 32

5 10 5 15 5 20 5 25 5 40

B 12 B 18 B 24 i a0 & 48

7 14 7 21 7 283 T a5 7 56

g 16 3 24 8 a2 8 40 8 B4

9 18 9 o7 g 36 9 45 g 72

10 20 10 10 10 40 10 50 10 a0

11 22 11 33 11 44 1 55 11 a8

12 24 12 96 12 483 12 B0 12 a6
RED

1.8 =+ 2=

2.12 = 2=

3.18+2=

4 15+ 3=

5.21 +3 =

6.25 -+ 5=

7.40 + 5=

8.50 + 5=



© No bk b~

© No gk b~

24+ 3 =
18+ 2=

22+ 3=
33+ 4=
23+ 4=
28+ 5=
28+ 3=

23+ 4=
28+ 5=
28+ 3=
37+ 4=
57+ 5=
63+ 8=
79+8=
903+ 8=



